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And he reconsidered within K’day Dibur, etc. — %912 91357 575 70 7251

Overview

The X713 challenged the view that 01 "7 maintains 7 712775 7127 >72 710, from (the
explanation of) the mawn regarding 2w NN A2 NN, where it seemingly
appears that he maintains 7 112°72 3% 7"5n." Our M»o1n qualifies this assumption.

= 997 992579 IND 99257 19 TIN 920 YD 2297 NNV ) 9207 INNIY
Even according to this which we assume now that >''1 maintains 9123375 8% 7''>1n

27, nevertheless -

= 31919 N0 INNYY DMLY NN DN 9N 279D 1M9NNYIT ANI)
It seems that even if he intends this dual statement, where today he said, it should

be 2192 nawan, and tomorrow he said it should be 79 n=n -
= 5252V 09327 195 M 409139P 19927 )PNY

That his words are not to be fulfilled, for it is like words in the heart, which were

not said explicitly -
$99257 273 TIN 2311 19927 WHDY PIYDT 5930107 XD 91257 271D TIN NN

And it is only if it was 7"'2n that it is effective, for regarding explaining himself
7'"'51n is effective.

Summary
Even if we assume 7 T12°72 WY 7"51n regarding T9n1, nevertheless regarding

clarifying his intention it needs to be 7"21n.

Thinking it over
Why is it that 0127 21X 272w 2°727;’ it is because we do not believe him that this

150v ' said that if he was 7721 (he reconsidered) after he said 79w nmn and said »w n7mn, even though it was
7"20, nevertheless it is 77w nAN, since 7210 is »7 N2°70 2. We could therefore assume if he was not 7711, we say
that it is 2°»%w1 72 NN, even though 0w NN was said after 72 NN (and it is irrelevant, whether it was said
7"210 or not, since M7 M2>73 K2 7"7N). It would seemingly turn out then that if he initially intended for both 771 and
o°n7w (he was not 7213), even if they were said at separate times, it would be a 27w 729 DN,
2 He initially intended that it should be both 791 n7%n and o75w NN, however he verbalized it on two separate days.
3 Seemingly it should be 2n%w1 79w nwn. See footnote # 1. M20N rejects this view.
41t is only a o°»%w n1nn (the first one).
5 He did not verbalize that he wants both; he merely stated one now — 2»>w nmn. See ‘Thinking it over’.
¢ Ifhe said 7"2:n @nw NN 79 NAN, we can assume that his intention initially was for both, however if it was said
712°7 >3 TNRY, there is no reason to assume that he meant both, but rather that initially he only meant the first one that
he said.
7 See footnote # 5.
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was his intention, or is it simply a rule that if it is not said verbally, we do not take it
into consideration.®

8 See wn nbma.
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